Calculus BC – Chapter 5 - Even Answers (F.T.D.W.)
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Section 5.5
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38. (a) wrong
(b) wrong

(c) right
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44. � EMBED Equation.DSMT4  ���


46. 5 – 4x2 + x3


48. � EMBED Equation.DSMT4  ���


50. � EMBED Equation.DSMT4  ���


52. Theorem 4 does not apply since the integrand is not continuous on [0,1].


54. (A) � EMBED Equation.DSMT4  ���


(B) � EMBED Equation.DSMT4  ���


(C) � EMBED Equation.DSMT4  ���


(D) � EMBED Equation.DSMT4  ���


56. Since the initial velocity is 0, the closer to time t = 0 that we start, the larger T will be especially since the new initial velocity will be closer to 0 giving a slower start.
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� EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���





12. 38/15


14. 7/24


16. 1/6


18. 2


20. � EMBED Equation.DSMT4  ���


22. � EMBED Equation.DSMT4  ���


24. � EMBED Equation.DSMT4  ���


26. � EMBED Equation.DSMT4  ���


28. � EMBED Equation.DSMT4  ���


30. (a) 1/3


(b) 0


32. (a) 15/16


(b) 0


34. (a) 0


(b) ¼


36. (a) 2


(b) 2


38. (a) 4


(b) 0


40. (a) -1/12


(b) 1/12


42. 116/15


44. 2/3


46. 1/5


48. -25/6


50. 2


52. � EMBED Equation.DSMT4  ���


54. s = 100t – cos(2t) + 1 


or  s = 100t + sin(2t - � EMBED Equation.DSMT4  ���) + 1


56. (a) � EMBED Equation.DSMT4  ���


(b) � EMBED Equation.DSMT4  ���


(c) � EMBED Equation.DSMT4  ���
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